@ RunlLog 2203Xe_220327.xIsx1_RunLog

22‘03)(31‘0_7 5 | i i i i736X520+ 10.75MeV./u 18.25MHz(RRC+RILACZ2) TonA ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
| Run Summary Sheet : CAMAC & LabView FHELTECL

| | | [ ] Att Det.Setup
| |Fname

start | stop |Header |[Ender / L{_Elapse aAvk 100[10[ 5[ 3] 2] Trig |Wob |AuF [Kap [IG1 |PL1 [PL2 [IG2 |Airl |Air2 [PL21C2,SSD

|
KB LogNote: E5exp(9)_

\ | | \ SSD= Ar—gain : 2203Ar.Xe C3ta

|
SEBATH : Beam R BERS PL:2110ArD T <

22/03/13 ZnSAHRY AR p.80 Cam@z~200 BLX ZZE : (EH#/E THETIZL -

Cap 21:20:00 Cap01_Qmag furu mpg 2/ 2001 X X |25u | X X X 25| 13

RO2[E & Cap02 Zslide150 mpg 2/ 1 1] 0/ 0

TIHE Cap03_Zslide0-85 mpg

Cap04_Au2um_Z0-85-50-0 mpg

Cap05_Au2-1.4-0.7um mpg

Cap06 WobR15,20,25,30,35 mpg 1 2| 1] 0] 1

o |o|s|w|n|=

Cap07_Au2.0-R20 mpg

GafffEZ(1)  |Gaf: HD-V2 [185x85mm @ Ysid p.81

FEL -Att vs IC2@Air2 IC2@Xclmt

22:40:00 Au2.02um R=0 60sec 2| 1] 0] 0] 1[2nS:SpotdZELEIL #/E TGatB A BEL T2/

Aul.4um R=0 60sec

Au2.02um R=35 60sec 5&9

1

2

3

4 Aul.4um R=20 50sec &
5 Aul.4um R=25 50sec &3
6

Aul.4um R=30 50sec &9

Z%0stud 23:30:00 PL1=500u® 35% g 32 L f= PL2=100u#1(2203Kr T ) PL2. PL1 = 1pnA BFAISK

8k, 3k

600k, 250k

1.8M. 600k

2.7M. 1M
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olololololole
—|olo|=|olole

22/03/14 0:00:00 RO2JE 7= 3.5M, 1.7M
: RiEY, IMARE 3.5M. 25M[ 1

0:30:00
Bl 5 p.81 PL1 Thr1=291mV, Thr2=520, PL2 Thr=203mV

22/03/14 0:30:00]

PL HV(1:FATHI) Trig= PL1 or PL2

| |plhvO1- PL2=2k, PL1=3k| 2| 2] 1| 0 PorS(0) [R30 |1.4uf=>7= PL1(500u® 35)

)

0:56:25| 0:57:02|plhv01-01 PL1 500anu 700V PL2 100#1 1100V

1:02:05 |plhv01-02 PL1,2=800,1200V Vis SCL T PL1:PL2=1:2.8~2.9 ELEZ [PL2(25u:Xe )

1:05:08 | plhv01-03 PL1,2=900,1300V THR30%E D TIFEIFOK

1:12:44|plhv01-04 PL1 000,1400V ‘

NN

1:16:54 | plhv01-05 PL1,2=1100,1500 |

1
ERTE(2) p81 PL1 Thr1=307mV, Thr2=520->2245mV(1000V->800V PH 1/2CEHE)IZL1=.

scnAtt: PL1®D35 vs PL2 PL1=1100V, PL2=1400V IC2 @ Air2(X=0 Center) \

| |scnAttO1gomi 202203140142 p.82 |

1:42:00] 1:53:00 0:11:00[F'S : A EF LS 111 1.4uf=o7= o |0 PL2@Air2

=)
~
13
pe)
@
S

scnAtt01- 1| 1:42:57| 0.07186 0:00:32|PL1~PL2[Z%>TL V=, 2/ 1] 1/ 0] 3

12| 1:53:06] 0.08588

EERFE (3) p.83 PL1 @) CamSCLIZ PL1 orPL2Trig HAADTL =, ~>EZEAEABL

2:00:00| 2:55:00 0:55:00

| | scnAtt02_ 202203140305 scnAttARZ p.82

3:05:00] 3:15:00 0:10:00|PL1 vs PL2 TEL<%io7= ! 111 2|~ R30 [1.4uf=>7= o |0 PL2@Air2

olo

ScnAtt02— 3:06:53 scanAtt001 Mul 40000 20 1] 1

3:07:53 scanAtt002 Mul 80000

3:08:49 scanAtt003 Mul 800000

3:09:21 scanAtt004 Mul 100000

3:10:15 scanAtt005 Mul 200000

3:11:07 scanAtt006 Mul 400000

3:12:01 scanAtt007 Mul 800000

3:13:01 scanAtt008 Mul 1000000

3:13:55 scanAtt009 Mul 2000000

3:14:52 scanAtt010 Mul 4000000

—|o|w|o|w|o|o|s|w[n|=

3:15:59 scanAtt011 Mul 8000000

sonZic: ExpRmm #—F . AufEE&HI%E

| |scnZic01_202203140346 10mmStep 57 x 30sec p.83 IC2K(Zsld=0) @ Kap=25+113mm R30 [2ulRELT= O [X |OIC2KZsld

3:46:00| 3:52:00|Au 2.02 R=30 57 0:06:00 | PL1=300K, I1C2=1.6-7A 1.2/ 1 0/ 0 [

| |scnZic02 202203140353 10mmStep 57 x 30sec R30 |1.44u

3:53:00| 4:00:00|Au 1.44 R=30 57 0:07:00 I

| |scnZic03 202203140403 10mmStep 57 x 30sec R30 |0.72u

4:03:00| 4:09:00|Au 0.72 R=30 57 0:06:00

| |scnZic04 202203140414 0740:Step5 80:Step2mm x 30sec _ |p.84 1.2/ 0/ 0] 2 R30 |2u

4:14:00| 4:30:00|Au 2.02 R=30 A& 0:16:00

| |scnZic05 202203140431 0740:Step5 ~80:Step2mm_x 30sec R30 |1.44u

4:31:00] 4:48:00|Au 1.44 R=30 &% 0:17:00 I

| |senZic06 202203140449 0740:Step5 ~80:Step2mm_x 30sec R30 [0.72u

4:49:00| 5:07:00|Au 0.72 R=30 A& 0:18:00

scnZssd: Espc PL1P35FY p.84

scnZssd01- Ar—gain THAIE PL1=3k, Sor=1.5kcps 2| 2/ 0] 0] 2 R30 |2u O | X |OSSD zsld

5:34:59|scanZ001 0.0 mm

5:36:23|scanZ002 5.0 mm

5:37:31|scanZ003 10.0 mm

5:38:39|scanZ004 15.0 mm

5:41:27|scanZ005 20.0 mm

5:42:31|scanZ006 25.0 mm

5:43:53|scanZ007 30.0 mm

5:44:58|scanZ008 35.0 mm

||| ||| no|—

5:46:05|scanZ009 40.0 mm

5:47.09]scanZ010 45.0 mm AL OTRZ=60vFRATLVA

5:48:17|scanZ011 50.0 mm SCR/A XU TFHDT, Thritd FT

5:49:21|scanZ012 55.0 mm Tright#h->TLVELY

5:50:27|scanZ013 60.0 mm

17:26:40|scanZ014 65.0 mm

E—LEARET .84

SRCEBE(IEIBEMTDEE T)

(RO2) ¥#{HR5—+ .85 RO2ZE {i R R AN VAV o 1=

22/03/14 10:30 (RODFIFARSE—F p41

22/03/14 16:10 FIFA#T.MTH# T . RO2ZFH1+ AEZRO RS A Ly =0min

18:00 E5->E3a—RYIEHZ(MER/MTOE A T)

INEZBERE: <+, /MU

22/03/14 8:30:00] [E(Xe) = 10.84 MeV/u 91
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